(b)

Expand 5(x - 2).
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(b)

Expand

4(x-3).
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15. (a) Expand 2x(x"+ 3).

[2]
(b)  Expand and simplify 4(3x— 1)+ 3(x-5).
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(c) Expand and simplify 3(4m + 1) —4(2m + 3). @
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(b) Expand and simplify:  4(2y —3) - 3(y + 5) @
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(b) Expand and simplify:  4(2y —3) - 3(y + 5)
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(a) Expand 6(x —5).

(c) Factorise x> + 4x.
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(b)

Expand and simplify

(x+3)(x-6).
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(b) Expand the following expression, simplifying your answer as far as possible.

x+7)(x-3)
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20. Factorise
(a) 3xy’-6xy,
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22. Factorise

(a) 4x2y — 6xy2,

o
(b) x —4x-12.
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(b) Factorise x”+ x—20. @
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(b) Factorise x* + 2x — 35. @


Rob Davies
Note
From Paper 1 2005


(b) Factorise 3a’—6ac. @
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19. (a) Expand the following expression, simplifying your answer as far as possible.

(x—=35) (x+2)

(2]
(b) Make n the subject of the formula
J3n+dp=m
[3]
(c) Factorise 3x*y + 6xy°.
[2]

(0184/4)
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(a) Expand the following expression, simplifying your answer as far as possible.

(x-3)(x-4)

(b) Make ¢ the subject of the formula:

2n+5=3(8-3n

(¢) (i) Factorise x>+ 7x— 18.

(i1)  Hence solve the equation

X2+ Tx-18=0.
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20. (a) Expand the following expression, simplifying your answer as far as possible.
(x+7)(x-5)

(b) Make n the subject of the formula

4(2n + x) = 6x - 5.
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